

A major game company has been losing money for a number of years.  They just can’t seem to come up with a game that is fair for both teams that are playing and fun at the same time.  One of their rival companies has come up with a game that uses dice and the probability of rolling a certain pair, but their game has received some bad reviews about its fairness as well.  Your job is to help the major game company to create a game using dice that is fair for both sides.  Here are some rules to guide you on your way:

1. The game must use two dice, numbered from 1 through 6

2. The rules of the game must not be too difficult, but easy to understand

3. There must be a packet created that details the rules of the game, the winning and losing hands, and then reasons for making those choices

The first thing that you will have to do as a group is determine the sums of all possible outcomes and produce a table that will allow you to access information about the probability of rolling a certain number.  Next, you will need to determine the probability of rolling each number and writing them all down.  Finally, you will need to come up with the winning rolls and losing rolls and explain why you chose these to be your options.

Please remember that this needs to be a detailed report with all of your information being important to the success of your game.  For example, you can say that a 4 is a winning hand worth 2 points, but you will need to give a reason why.  There are many different ways to create the game, and you can incorporate other things into the game as well (for example, making it into a board game that uses the sum of the dice to advance one level).  Be creative and have fun with this project, but make sure to stay on task.
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